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1. FTio7rZ 70T, (A~(E@DFHERICHE->T Main A Y v RIZABEEZBINIL, Y02 T LE5ERK
SH X, &HIZ, Driver 7 7 X & Car 7 7 ADFEfR%Z UML O 7 7 AKX THRKA,

using Systenm; class Program {
public static void Main() {
class Driver { // FSA4 /13— Console.Write ("F2/\—72 ");
private string name; // %I string number = Console.ReadlLine();

private int license; // RIFIIHEE
// (a) F2IN—%{F>T carl THERK
public Driver(string name, int license) {
this.name = name; Car carl =
this.license = license;
} Console.Write ("f&ME? ");
string gasstr = Console.ReadlLine();

// Write BETHDXFINANDEBRFEEIRTE

public override string ToString() { // (b) BERDAY 2% carl IZHAH
return name + " (8" + license + "&) ";
}
¥ ‘ ‘
Console.Write("F34/\—2 ");
class Car { // BEIE string dname = Console.ReadlLine();
private string number; /] FIN— Console.Write("®REFIAFES? ");
protected double gas; /] Ay E string lstr = Console.ReadlLine();

protected Driver driver; // K34 /83— X ) )
// (c) ES5 A4 /8—driverl 4K
public Car(string number) {

this.number = number;
this.gas = 0.0; Driver driverl =

}
// (d) driverl # carl [ZEZRE

public string GetNumber() {
return number;
} Console.Write("EATEERE? ");
string dstr = Console.ReadlLine();
public void SetDriver(Driver d) {
driver = d; /] (e) HREEMEET Run EEMT)
}

public void FillGas(double g) {
gas += g; }
Console.WriteLine("#A#5% Y {O}L", gas); }

}

public void Run(double dist) {
// & 10km/L THY ) VDHEBEEFHE
gas -= dist / 10.0;
Console.WriteLine("BHEIE " + number);
Console.WriteLine(":E#x&E " + driver);
Console.WriteLine("EfTEERE {0}km", dist);
Console.WriteLine("#A¥l5% Y {@}L", gas);



2. 1.o7a I hZCar VT A%MA LT KeiCar 7 7 A& Truck 7 7 A ZBML, Main X Vv FHi#E Y
IEE L CEMEZMERT L, O, KeiCar & Truck @ Run X VY v RTliL, BRE 2N 15.0km/L
& 5.0km/L TEHET A L9128 L, E5IT, Car & Truck & Driver D% %Z UML 7 T A THH,

class KeiCar : { class Truck : {
public KeiCar(string n) public Truck(string n)
public void Run(double dist) { public void Run(double dist) {
} }



